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9. [10 points] After a mistake on their last mission, Brad and Angelina must go on the run
together, or risk being captured by an opposing agent. Brad and Angelina’s shared position
is given by the parametric equations:

(f(t), g(t)) = (¢ + 10, 2£* +10)
and the agent pursuing them has position given by the equations
(r(t),q(t)) = (7t, sin(wt) + 12t).

The time t is measured in hours after Brad and Angelina have gone on the run, and all
distances are given in miles.

a. [5 points| The agent catches up with Brad and Angelina at the smallest positive ¢t-value
when the agent is in the same position as they are. Find the time when the agent
catches up with Brad and Angelina.

Answer:

b. [5 points] Compute the total distance traveled by Brad and Angelina before the agent
catches up with them.

Answer:




